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QUESTION 1

Which of the following PowerCenter applications is browser-based in the Informatica 9.x environment?
A. Repository Manager

B. Informatica Administrator

C. Workflow Monitor

D. Workflow Manager

Correct Answer: B

QUESTION 2

Refering to the Lookup transformation, which statement is correct and true?

A. The lookup condition defines how much memory each of the two caches will consume
B. The lookup condition defines the fields that are used in the search of the data

C. The lookup condition is limited to only the equal operator

D. The lookup condition is designated in the ports tab interface via the "L" check box

Correct Answer: B

QUESTION 3

In which of the following selections are all of the transformations active?
A. Expression, Router, Joiner

B. Update Strategy, Expression, Aggregator

C. Stored Procedure, Joiner, Router

D. Router, Update Strategy, Joiner

Correct Answer: D

QUESTION 4
Referring to Informatica Domain Architecture, select the statement which is correct and true.
A. A worker node does not use a service manager

B. The OS process that is running after the service manager is started is called pmserver
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C. The service manager on node 1 will directly monitor services on node 1 and node 2. This is why it is called the
gateway manager.

D. Nodes within a domain are identified by their name, a hostname and portnumber

Correct Answer: B

QUESTION 5

A Router transformation has the following group filter conditions:

Group A: InputValue = 2

Group B: InputValue > 1

Default group

The InputValue Is an integer port. Identify which of the following statements is correct. (Choose one)
A. If InputValue = 2, the output will be routed to Group A only

B. If InputValue = 2, the output will be routed to both groups A and B

C. If InputValue = 2, the router will fail, since rows cannot be routed to multiple groups

D. Any positive number values other than 1 or 2 will be routed to the Default group

Correct Answer: B
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